[ Efficiency vs vertpos |

etticiency vs vert r

Ratio

Efficiend

efticiency vs vert z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

) SN S S -

OF* |

s

._.
] L]
L
e
——

......—*—i.....
. ——
: —_—]
L=
s wal)
o ——f
v ——f
——
§ ——
!
_n_*_:_
L S———

1072 107 1

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewDUP1000time__RECO

830 20 10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

efficiency vs Sim. PV z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

..............

15 20
Sim. PV z (cm)




	Contents
	Page 1


